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AMH: feip: WR:
8x + 4x° — 4x — Sx + x 8x° — 8x° + 5x° + 3(8x + 9x2)
Adx+ Tx0) + 26 + Ox +x° 30— dx+3(x— 2¢°) — 6
4(7x— Tx) + 9y — ax 3(7x2 - 9x2) +2x% + 207 + 4x?
4x3—2x—8x3—2(9x3—x) Sx+ x4 + T+ 5x
4% — 3x + 8x — 4(2x3 + 9x) 5%+ 5% + 3(9)(3 - 7x3) — bx
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AMH:

8x+ 4> —dx— 5x+x
43

4(4x + 7o) + 207 + 97 + X7
28x° + 12 + 16x

4(7x — 7x)+)(2 +0x° — 4x
o0 + 2% —4x

43 — 2x — 8x° — 2(9° — x)
~22%3

4x3 — 3x + 8x — 4(2x° + 9x)
—4x> - 31x

f&iep:

8x° — &> + 5% + 3(8x+ 9x2)
S5x° + 272 + 24x

3 — dx + 3(x — 2x°) — 6x
3% — Tx

3(76% — 9x%) + 202 + 2% + 4x?
2x

Sx+x° + 4 + Tx+ 5x
5¢ + 17x

5 + 5% + 3(9)(3 - 7x3) — bx
11x° + 5¢ — 6x
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